*his question paper contains 4 printed pages]-

Roll No.

.. No. of Question Paper : 1266

Jnique Paper Code = ;6.'2341101 . | I
vame of the Paper : Computer Fundamentals

Name of the éourse - - : B.A.(Prog.) Computgr Alpplications
yemester . |

Juration : 3 Hours . | | ' Mé;(imt{m Marks : 75

Write your Roll No. on the top immediately on receipt of this question paper.)
Section A is compulsory.
‘Attempt any five questions from Section B. -

.~ -Section A_..ﬁ___

. (@) List three main components of computer hardware. 3
. (® Give full form of the following : CD-ROM, USB, EEPROM,
and ATM. ~ | | o 2 -

‘(¢) Give twe - differences bétween Dumb Terminz_ll' and

. Intelligent T_enninal. ) 2

(d). Name three Pointing IDevicgs'. 3

(e)  Give the valid digits in the following number systems :
| | o l
1% ) PTO.

DeciméL Octal, Hexadecimal.
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@)

®

@)

0

®)

(a)

(z) . e
Give two examples of system software. -9

Give two differences between Pointing devices and Pick

devices. . ; 2
List three significant limitations of the computer. 3

Write a short note on Antivirus” Utility. 2

~Convert 147 from Base 10 to Base 2 and Base 8. 3

Section B

Explain main functions of CPU. Drz_w.v block diagram of |

CPU to show its different’ parts.' i . 5

Highlight the differences between microcomputer,

minicomputer, mainframe computer and super

computer. - BES TR 5

* Convert the binary number 1100110011 into Octal number

- and Hexadecimal number. . Ay 4

Perform the following Binary Operatiéms s 6

0 (1001)+(1111)

(i) (1111)-(1601)

(i) - (1‘0:*1'1_)+(1-|0'O0).
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(3) 66
(@) Give differences between the following : 6

() Ink-jet printers and Laser printers
(if)  System softﬁrare and' Appli. ware
(ii)) SRAM and bRAM
(b) | Write four key functions of Oberating System. 4

(@) What are utility programs ? Explain Data Backup
Utility. Rty - 4
(6)  Give two features of each : Joystick, Scanner, and Touch
Screen ST - 6

; (aj : E:ﬁplain the need of Cache Memory and state three

importantl;fcathreé of Cache memory. | 4
(b)) Define the following : . s
() —POST

(if)  Registers
(iir) Inpm-Process-Qutput-

- (@ Explain how computer is ﬁseful in the areas of
Entertainment; Education and Advertising. ' 6
()  Show the hierarchy of different memory types with the
help of diagfam. : 4

P.T.O.
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(4)

8. Wrife short notes on the following :
Q) E_M.:Blue;ooth
(i) 'éigdata
(iii) ?]ouc_i ‘computing
(iv) . Mobile -computing

: (ﬁ)-. Embedded system

1266 . o 4
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This questwn paper contains 4 printed pages
Your Roll No

..................................

Sl No. of Ques. Paper: 1306 : ' I
Umque Paper Code : 62344328 '
Name of Paper : Computer Networks and Internet
4 ~ | Technologies |
Name of Course : B.A. (Prog.) : Computer

| Applications
Semester : III '
Duration : 3 hours

Maximum Marks : 75 -

(Write your Roll No. on the top tmmedtately
on receipt of this question paper.)

Section A is compulsory.
Attempt any five questions from Section B.

1.-(a) Write any two applications of computer network
in business area. | 2

(b) Write the difference between break and continue
in .JavaScript. Explain with the help of an
example. o | 4

(C) Briefly explaln Pomt to- pomt and Mult1pomt

connections. 4

- (d) Differentiate  between connectionless and
connection-oriented services. 3

(e) What are search engines? List any fwo search
cnglnes 3

P. T. O.
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1306 2
() How can we change the backgroungi color on
~ webpage? 2

(g) Write the five main components of data
communications. 5

(h) Give an HTML command to insert an image into a
cell of a table. p

SEcTioN B

2. (a) Write the steps that occur when we type a web

link in the address bar of a web browser. 7
(b) What are three key elements of protocol? 3
e

3. (a) What is optical fiber? With the help of diagram
describe different parts of an optical fiber.
‘Describe the process of light transmission through

~ optical fiber. _ 6

(b) Bneﬂy explaln WAP and H’ITP protocols 4

4. (a) Describe the uﬁe’ of fOllowing HTML tags:—
(1) <sup>text</sup> |
(i) <tr>
(iii)  <ul> -
(iv) <bf>
(v) | <frame> '~ 5
(b) Write HTML code to generate the following

output:— \ 5
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1306

S. No. Name Marks

1 Sita 40

2 Gita 30
Total 70
5. (a) Describe Physical Layer and Data Link Layer of
OSI Model. | 6
(b) Write a program'to_ get the sum of digits of a
number. 4
6. (a) Write the HTML code for the following: 3

' *
® *
* % %
¥ k% % * .

(b) What is use of width attributes in table tag? 2

(c)Write a JavaScript code to find factorial of a
positive integer. | 5

7. (a) What is Topology? Describe in detail Mesh
Topology with diagram. Also write one advantage
and one disadvantage of Mesh Topology. 5

(b) Write a JavaScript program that will iterate from
0 to 15. For each iteration it will check if the
~__current number is odd or even. 5

8. Write short notes on any five of the following:

| 40 Telnet P.T.O.
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(b) URL

(c) Web Browser
(d) Voice over IP -

(e) Bridge
(f) LAN.

10

1100
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S.No. of Question Paper

Unique Paper Code
Name of the Paper
Name of the Course y

Semester

Time: 3 hours

(Wtite your Roll No. on the top immediate

Roll No,

S2g!
290578

Mass Communication-]

B.A. (Progra mme) Application

Vv

ourse

Maximun Marks: 50

Iy on receipt of this question paper,)

(wm_w$mamu»mwﬁmmwmﬁammm)

Note:  Answers may be written either in English or in Hindi;
used throughout the paper.

but the same medium should be

M:wm—wmmmm%ﬁwmwﬁﬁﬁméﬁ»—vrwﬁw'fquzﬁam

iy |

All questions are compulsory

Questions from each part must be attempted.

1. Atternpt in detail any /o

T9 90T ¥ BIE IR WA

Y g aifErt €
TAE WIT B U Afyard §)

Part-I
(T 1)

]
y

i questions from this section;

.
.

(a) Explain the role of print media in a technologically advanced world.

T B W R war i e AR # e we Ak

X GENEICE (Vs | N

qeamE @ HiaRe way P Az S |

\ (b) Analyze the intrinsic connection between mass communication and social change.

\ (¢) “Advertising helps maintain a fagade.” Comment on this statement and givea

reasoned answer.

e wee #) sl @) aerr &ar &, 59 U 1 qe S AR
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(d) “The radio atfects people in ways vastly different from the televis;
. e " a, .
comment and give a reasoned answer. Vision.” Critically

R A Dl
A

(e) Define an advertiseme
e 1

(f) What is Mass Commun
TR 1 gRA

XA U IS WER W AR S |

e;ﬁﬁrﬁﬁamquvwﬁﬁaﬂm%'lﬁﬂmmaﬂvgﬁﬁgﬁw

nt. Analyze the different types of advertisement

ication? Critically comment on its role in a democracy

T U Alpaa @ AT H 5@ e Yaifed @i

Part-1I
(AT 2)

. Write short notes on any fwe of the following in 150 words.

Prefafa R el @ W, W@ 150 WA A, Wity fewh ferRaw:

(a) ‘Communication’ in Mass Communication.’

AR A AR |

(b) Outdoor Mass Media.

qTEd W A |

3R 99 |

(c) Books and Pamphlets.
TRD

(d) Publicity.

TER |

(e) Medium of Advertisements.

fRsTaa @ ATEdH |

Part-II1
(wmT 3)

3. Write a paragaph of 250 words on any one of the followiilg:
. ﬁ - - = : i

clirar

a,

b.

> foral U@ aY 250 el | o=

Female Literacy programme.

= |ERar AFEE |

Environment and its deterioration.
yfaRor &R IS &RV |

Different tynes of natural calamities.
epfire aireT @ W |

Increase in suicidal tendencies in farmers.
forameit % agdl ameTEedT @ ygf |

2x4=8
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4. Correct the errors in the following passage:

4
The lawn should be given top dress of fertilizeer, urea mixed with neem cake and

from october onward cut grass close on the ground. Environmentalists
recommends spraying of neem powder in the soil.

ﬁﬂﬁrﬁiﬁmﬁﬁmﬂﬁﬁﬁﬂaaﬁﬁq:

o T T B Y RErt At R el e @ A @ gfe § el
@mmﬁ%aﬁsﬁqﬁﬁq\?ﬂiﬁﬁmmﬁwmaﬁ%ﬁﬁmmBﬂtﬁsmﬂﬁ%aﬁtﬁmz’{
ﬁmﬁ@mmmﬁmmaﬁiwﬂm;mg
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This question baper contains 7 bl'i|1ted pages]

Roll No.

S. No. of Question Paper : 1338

Unique Paper Code D 62343318 ' I
Name of the Paper . Office Automation Tools
Name of_th-e Course - : B.A. (Prog.) Compute.rlAppIication 2

Semester

Skill Enhancement Course '

11

Duration : 2 Hours - T Maximum'Ma_rks : 25

(Write your Roll No. on the top imm'ediate!y on receipt! of this question paper.) -

Question No. 1 is compulsory.

Attempt any three queSﬁons from rest of the five.

All parts of a question must be answered together. .

L= @) _ ‘In the word dpt:ﬁnién_t -bosder can be e‘lppl'iéd.to ;
@ page ST
®  pirgph
(c) =t(laxt -
All of the above B

_ @

P.T.O.
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(i) ~ Which of the following is mor essential component tg

perform a mail merge 0pcraii0n ?
(a) | Main document

(b) Data source

(¢)  Merge -ﬁeld‘s |

(d) Word fields

: ‘_(iii) Léndscape 1S

(a) A font style ,

‘ (bj - Paper —Size

(c‘)_‘ ngé ﬁgydut.

(-d)‘ - Page Orientqtiop ‘ | s, -
.(iv)- ‘V-Vhat. is the shortcut key for line break ?

(a) 'CTRlL + “Enter

(b),. Alt + Enter

(¢)  Shift + Enter

(d) . Space + Enter
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(vi)

(w’i)

(i:3d-) ' 1338

What does the HLOOKUP function do 9
(@) Looks up text contain-ing ‘H?

(b)  To replace a text

(¢ Find related records

@ Al pf the above

Which of the following is an absolute cell feference ?

(@ Al &
(b). s$As1
(@ #a#l
) AL

By default; how many sheets does a workbook have ?

@) - 2
) 0
() 1
@ 3

P,T..
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('{.1)- ;o 1338

~ (viiiy What is an expression that tells how the numbers i ,

determined set of cells are to be calculated ?

(a)  Formula

(b) - .Field-
(c) ‘Data
(@)  Query

(ix) . Which of the foll_ov;/-irigv f'_ormqlas is not entered

"v,q_orréctly, ?

(@ =10+50
& L
(@ =BT+14
) 10+SO

(x) ,thichrof. the fo'l-lowing functions yield the word True

. or False as a result 7 -~

@ .'lSUM
: ) COU&T
(¢) : IF
@ MIN 10x1=10
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(5 ) 1338

/. ()  Dillerentiate among COUNTA, COUNT I and COUNTBLANK
in Spreadsheet. | 3
(b)  Enumerate how we can add and edit a pivot table in a
- spreadsheet. 2
) Consider the following employee worksheet : 5
A B C D E F G
NAME |[GRADE | BASIC | HRA | PF | GROSS NET
1/2/3 SALARY SALARY | SALARY
Amit I 20000 .
Sumit 2 12000
Ajay 3 | 8000
Suresh | 14000
Rajesh 3 | 6000
Chandu 2 12000
Rahul 1| 16000
P.T.O.
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(@)

0)

(©)

@

( 6 ) | 1338

write down formula to calculate HRA as giyep

below :
Grade HRA (% -of basic)
! - 40%
2 | | ‘ 35%
3 "30%'

Write down foﬁ‘nula to calculate PF as given below :

« ' If Basic Salary is greater than 15000, then PF is 10%
of basic salary - '
- If Basic Salary is between 10000-15000, then PF is

7% of basic salary

b

« - If Basic Salary is less than 10000, then PF is 5%

of basic-salary.

Gross Salary = Basic Salary + HRA + TA.

Net Salary = Gross — PF
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( 7 ) 1338

4 (@) What are Header and Footer used for in word

processing ?

(b)  Enumerate any two ways of aligning the text in a

typical word processing software. 2

5; Write _the syntax of VLOOKUP; fpncti;)n in a spreadsheet and
illustrate with th"e help of example. , '. 5

6. What is mail mérge utility u-se.d. for ?.ertethe steps- for dging
Mail Merge operation in \;ﬂvord pr(-Jcess.ing.‘ | D
338 § i - ‘ 600
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This question paper contains 4 printed pages]

Roll No.

5. No. of Question Paper : 1441

IJm'que Paper Code ; 62343502 I
Name ofthe Paper . Open Source Software

:E . '

i"g\'ame of the Course : B.A. (Prog.) Computer Applications :

i
|
b
|

semester

Skill Enhancement Course

vimieW

.c'h.fation :2 Hours ‘ Maximum Marks : 25

i"rite vour Roll No. on the top immediately on receipt of this question paper.)

{

Question No. 1 is compulsory.

Attempt any three questions from rest of the five.

@) Which loop répeats-a group of statements for each

a collection of objects for each element in an

1 item in

E array '7

] (@) While loop"

i (b) do' while loop -
‘(c) | do u;1til loop
(d) for loop

e N L e e S

P.T.O.
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(i)

(iif)

(@)

( 2 ) | | g

A _ variable is declared inside a procedure.
(a)  global

(b) local

. (¢)  external

d) internal

| ihdﬁates whether a particular condition is on

- or off.

(a) :Text bbg . | \
tb) Check box - ' jg
(¢) . Combo box

(dj List box N

A _is used for both input ana' output.

(a) _label |

(b) - text box

(c) combo box ' : - l
(d) command button |

Variablé ‘declaration is__d'one using the

"'keyword_.‘ T

(@ var . 4 :

%) Dim -

(¢) Declare |

.(d) Static
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(vi) -

(vir)

(3) 1441

thlCh file tormat offers Ule best image compression ?

@ PG
(b GIF
(¢) PNG
(d) BMP

What is tl)e shortcut key combination in GIMP, to cut

the selected item ©

(@) Ctrl+.Y
®) Ctrl + C
© Cul+ X |
(@ Ctrl+ 2 E SRk

| (viii)

)

What will happen if GIMP image is bigger than the image
window ? .

(@) Image resize dialog box appears

.(b) GIMP displays the image in a-reduced zoom level

(¢) Error message is shown

- (d) "‘Image is not disp'laye'd

Which programming language. is used to write plug-ins

in GIMP 2

(a). C
(b) Java
(¢) Lua
(d) Python

P.TO.
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( 4 ) | 1441
(v)  What is the shortcut key combination in GIMP, for

undoing the last action ?

(@) Cul+Z

(b)) Ctrl+C
(c) ‘(‘:tr'l + X |
(@) Cul+ Y fe 10x1=10
2. (@) Highlight any three features .of BSD License. 5
(b) 'Brie_ﬂy explain nwo features of Academic License. 2
3. (a) Which two lig:ehsés permit cdmm_ércial use of'the Op?n_
Source Software ? - | ’ 3
(b)  List two disadvanfages‘ of open -SO‘I;I‘CG software. 2
4, '(é) ' beﬁne tl;e term “"warranty of merchantability". 3
(b)) . What do you understand by the term Open 'Sourée 2.
5; (a) .How is LGP different frorﬁ GPL? .. . - - .3
() What ‘rdoes the term “You" n.1ean.' in Apache
.Lipense‘? 2
6. (a)' ' Differentiate betwéen Cdntribu_t_or an'd‘ Lice-nso'r. -2
: (b)v-  What does Academic Licénse state. aboq; Jurisdiction,.
Venue and vaerﬁing Law ? - 3
1441 . 4 ' - . | 600
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